1. Suppose the amount of oil pumped from a well decreases continuously at a rate of 8% per

year. When will the well’s output fall below 1 /4 of its present value?
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2. Find the exact value. Simplify youlfsgsw%?;uﬂ credit. (10 pts.) ’
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3. Integrate. (8 pts. each)
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4. Integrate. Hint: a trigonometric substitution first will give you a trigonometric integral.
(10 pts.)

./ =
dzr
ey - sob #-9

K3
A= 3sec & . | 27%® %QWQ
dy = 2 =S de %’%

] xsw%v-——g; = Sz:,xgche Jo
4 ‘B

5 (e sedo
U -Sob (,+w e\ Sa‘z@ a

-

Ju = sece L& = gz?(m«w\ L
— 2904 QuiHC T 1Fund+ Mo

- diverge? If it converges, find the value.

5. Does the improper integral [~ =37z dx conver
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(a) Does the improper integral fl Py T dz converge or diverge? You do not need
to compute the value if it converges. Provide some justification to your answer
for full credit. (42 pts answer, +2 pts justification)
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6. Integrate. (8 pts. each)
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